Model Set —I
Biology( sfig fasm) Time 4 90 minutes
Zoology Full Marks -35
Pass Marks + 11%

Candidates are required to give their answer in

their own words as far as possible.
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Figures in the margin indicate full marks.
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All questions are compulsory.
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General instructions:

Q. Nos. 1 to 10 are Multiple Choice /Objective Type each of]1 mark.
Q. Nos. 11 to 13 are very Short Answer(VSA) Type each of £ marks.
Q Nos. 14 to 16 are Short answer Type each of 3 marks.
Q Nos. 17 to 18 are Long Answer Type each of 5 marks.
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Select one correct answer
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First hormone prepared by genetic engineering is

(a) Insulin (b) Oxitocin  (c) Adrenaline (d) Somatotropin
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Nucleotide base present in DNA and not in RNA is

(@) Cytosine  (b) Thymine (¢)  Uracil (d)| Guanine
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Nucleosome contains

(a)  Only histones (b)  Both DNA and histones

(c) Only DNA (d) Both DNA and RNA
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Types of interaction between predation and parasitism are.
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Turners syndrome is represented by

(a) XXY (b) XO (o) XXX d XXO
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Widal test is done to confirm

(a) Malaria (b) Typhoid (c) AIDS (d) Cancer
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Primary spermatocyte produces 4 spermatozoa but primary oocyte produce

(a 1Ovum (b) 2Ova (c) 30va (d 40Qva
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Who is considered as father of genetics ?
(a) Morgan (b) Mendel (¢)  Hugo —de —vries (d)
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Ecological food chain cannot begin in the absence of

(@) Producer (b) Carnivorous (¢) Decomposer

(d) Consumer
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Blood of which group can be given to a patient of any blood group %
@ O b)) A (c) B (d AB
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Very short answer type questions

Define extinction . List the cause of extinction.
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What is Metastasis ? Explain in brief.
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What are restriction endonucleases ?
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Short answer type questions

2x3=6
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Expand MOET. Expalin the procedure of this technology in cattle ihprovement
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Match the column BTeTH ‘A’ ®I Hfeq ‘B’ By
Column A Column B

(1)  Sericulture (a) Beekeeping

(i)  Pisciculture (b)  Rearing of silkworm

(ii1)  Apiculture (¢c) Rearing of Fishes

What is the role of decomposers in an ecosystem ?
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(Long answer type questions)
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Describe the structure of DNA with the help of diagram.
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Explain  Mendels dihybrid cross. Describe Mendels Law of

assortment.
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Describe the process of fertilization and implantation in human.
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Describe the process of oogenesis in human with suitable diagram .
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